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1. Who among the following Archacologists 1. frafiRag % & |19 wr R Brefigr
Wwas never associated with the excavation of S ST T B ag E <@
Kalibangan®

(1) Amalanand Ghosh (1) e Y
2) KN.Puri @ I g
3) BB.Lal @) @&
(4) B.K. Thapar @ 9 oaw

2.  Pay attention on the following pairs of 2. WRRUA ¥ Wl Fifeg IH R &9 <
ancient sites and select the right option with T A RT TT P B v 9w
the help of code given below - famea g —
 Archaeological Site District - . RS v

(A) Balathal @) . Udaipur (A) Sreirrel (), 4 PEY
By Sitrsw (i)  Jhunjhumy (B) FT ) g7
(©) -Bagore ! (i) s R sammiand (©) R (ifi) - JToTeE
(D) Gilund -  (iv) Bhilwara D) figEs (v) HierarsT
Code - ‘o e ~
() (A)&(B)arerightand (C) & (D) are @ (A) 3R B) & § 71 (C) 3k (D)
wrong TeId &
2 (A), B), (C), (D) all are right () (A), B), (C), (D) w4t W& &
(3 (A)& (D)areright and (B) & (C) are B3) AR D) TS & HQJT B) 3R ©)
wrong : C TEa E
@) (A), (B) & (C) are right and (D) is @ (A),B)3IR (C)wE & T (D) e
wrong 2 : |

3. Which of the following books are writttnby 3. WERIT w1 gRT fofaq o Pfaar &7
Maharana Kumbha of Mewar? Select the . M T T He BT START B TT Wl SR
correct answer using the code given below - g —

(A)  Sudha Prabandh (A guT uey
(B) - Chandi Shatak B) v IdH
(C)  Rajvallabh ©) Vg™ ’
(D)  Vastu Manjari ®) ang Ho
Code- Hwe —
(1) (A)and (B) only (1) @9 (A) T (B)
@) (C) and.(D) only (2) @9e.(C)TE (D)
3) (A),(B) and (C) only 3) I (A), (B)TE (C)
@ (A),(B), (C) and (D) @ (A),(B), ()T (D)
00-©
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4. ‘Radha Govind Sangeet Saar’ scripture was N M T AR v Y 3= e Q)
composed by which of the following ruler? 0 w9 grr YA TS of)?
(1) Sawai Jai Singh 1) a8 99 R
(2) Sawai Ishwar Singh (2 O 3R Rig
(3) Maharaja Sawai Madho Singh I () TERMT WG 9rY Riz gom
(4) Sawai Pratap Singh @) warE vy Riw
5. The editor of ‘Praja Sevak’ newspaper was - T 9P THRER U5 D HUeH o —
. ]
(1) Kanak Madhukar (1) 9 AYPR
(2) Braj Dayal Sharma 2) 9 <T1e7 IEf
(3) Achaleshwar Prasad Sharma (3) EATR e IHF
(4) Devi Shankar Tiwari @) & vieR Rar)
6. Read the following statements carefully - ferReT et oY HAHIYGS gfey —
(A) Jamnalal Bajaj was one of the (A)  TEAIS SIS TSIIET 7 AR
founders of Rajputana Madhya 3 @ S ¥y &
Bharat Sabha. Jii! _ il ,
(B) In 1919 AD., the Rajasthan Sewa B) 1919 & # IoRE daT wY @)
Sangh was established by Vijay R faog Rz R, TR
Singh  Pathik, Ram Narayan e e .
T BRATS fFax gRT 3 T
Chaudhary and Haribhai Kinkar. B
Choose the correct code - Nl R I -
(1)  Only statement (A) is true (1) a9 BT (A) 9T &
(2) Only Statement (B) is true (2) Pad U B)ET &
(3) Neither (A) nor (B) is true @) Far (AT & B) T 2
(4) Both the statements are true @ N BT Rerould
7. Which of the following is not correctly Fefafed & ¥ o @ o gafera =&
matched? g7
Freedom Fighters  Related Princely AT S Heg oo
State R
(1) Raghuvar Dayal -  Bikaner
Goyal D) R I - 9K
(2) Baba - Jaipur Mg
Harishchandra g
(3) Mathuradas - Jodhpur @ W‘ ) !
Mathur G) TRENE MR - SETgR
@) Gopilal Yaday - Alwar @ Wdens agd - s
00-©

Page 3 0f 32



8.  Which traditional textile coloring processin =~ 8. YoM & dF W TRARE HIST TS
Rajasthan produced long lasting fragrant OIS Y o T d& GIRK | el
garments? BUS /I DT IAIE fbaT Sirem or?

(1) Amova (1) 3FEr

2) Malagiri (Malayagiri) Q) "R @aaiR)
(3) Pomcha 3) =

(4) Sanganeri @ |

9. Match List1 with List-Il and select the 9. -1 o A1 4 gaferd ST iR A=
correct answer using the code given below - few ae @ SWRT B T W TR

?ﬁN »

List-I List-Il Lk -1
Organs of the body Ornaments WR B AT e
(A) Ear (i) Kandora A) & (i) =R
(B) Neck (ii)) Damana B) e (i) <™
(C) Fingers (i) Mandlya (C) SiTgferdil (iii) HigeAT
(D) Waist (iv) Agotya D) TR Gv) ST

Code - - B —

A B C D A B C D
@ I I I v o I 1 I v
@ I I m v @ 1 I 11| v
3 I I\ I i @ I v I I
@ v I ke S0 41 @ v I i} I

10. Salim Sagar and Surajkund water ponds are  10. FelM AR T4 WOgS Sid ASHT Iaierd
located at — g —

(1) Bala Quila, Alwar (M) e e, e
(2) Taragarh Fort, Bundi 2) dRETG foa, @ q
() Mehrangarh, Jodhpur @) FRFG, SR F
(4) Shergarh Durg, Baran @ Iurg g, IRi A

11. Mauzamabad was the <.:entre of which of the 11. HivmETE F=ifaRad # I fda fEwar I
following painting styles? P F AT?

(1) Alwar (2) Amer (% STTH } @ s
(3 Kishangarh, (4) Deogarh @ e @
00 - @ Page 4 of 32



12.

option with the help of code given below -

List-I List-11
Community Folk Dance
(A) Garasiya (i) Gavari dance
(B) Gujjar (i) Sang dance
(C) Bhil (iii) Chari dance
(D) Sahariya (iv) Mandal dance
Code - '

A B C D
@D i i iv iii
2) iv iii i ii
Q) i iii ii iv
@ iii ii iv i

13. Identify the 1nscr1pt10n which gives 13.

evidence of presénce of Vaishnava Sect in

ancient Rajasthan -
(1) Kansua inscription
(2) Bamala inscription
(3) Harshnath temple prashasti
(4)  Ahar inscription

14.  The folk deity, whose main templeisnearthe 14.

bank of river Luni -

(1) Tejaji (2) Pabuyji

(3) Mallinathji  (4) Mehaji

15. Match the following - 15.

Literary work Author

(A) Meghmal (i) Satyaprakash
Joshi

(B) Radha (i)  Sumer Singh
Shekhawat

(C) Malake (iii) Meghraj Mukul

Manke

(D) Sainani (iv) Tara Prakash

Joshi

Choose the correct code -
(1)  A- (i), B- (i), C- (iv), D- (i1i)
(2)  A- (iii), B- (iv), C- (ii), D- @
(3 . A- (iii), B- (iv), C- (i), D- (ii)
@  A- (i), B- (iii), C- (iv), D- @

Match List-I with List-I and select the right  12. -1 &1 g1 A e sRu aor <19

T T o= & wraT ¥ 98 fewd

Hﬁq_‘\'ﬁrl T
kR AI® T

(A) IR () T T

B) TR @) 9T

©€) Ha (i) =9 T

(D) wERan (iv) #iTd J1

Wt\d_
A B C D

@ i i iv i

@ iv i ii

A i TR iv

@ i i v i

9 e B fafed AIRT, ST g

Wﬁ%&ﬁwaﬁwﬁeﬁ%m

amE—-

1) F\ganarﬁéa

(2) AT fYeg

(3) TR AR & Ry

@ JEs Afeg

mmmﬂ@wﬁ'\rr{vﬁﬁa}
e 8 -

1) Il @) gt

(3 Feen-Reh @) sESh

frfafaa = gAfa Ak —
wifefeas =T s :

(A) FEI () HETHTE S

(B) M (i) IR Rig

KICIER)

© wren B (i) FERT THA

(D) J=h iv) arr HHT ST

el fe gfw —

D A- (i), B- (i), C- (iv), D- (111)

2) A- (111), B- (iv), C- (ii), D- (i)

@) A-(ii), B- (iv), C- (i), D- (ii)

@  A- (i), B- (iii), C- (iv), D- (i)

- 00-©®
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16. “Vindhyan Scarpland” is formed with - 16. “foems wmRe AT ® -
(1) Sandstones (1) I TR |
(2) Granite (2) IEe A
O} Basalt. @) 4T @
(4) Marble @) GTRR A
17. Sandy Arid Plains and Semi-Arid Plains of 17. oM & Widl I AqH IR YD
Rajasthan are separated with the isohyet of — gﬂﬁ ------------- B THN YT ERT oI ﬁﬁq R1LY
I e -
(1) 20cm (2 30cm 1 209 () 3094
3) 10cm @ 25cm @) 109 @ 2594
18.  Which one of the following river does not 18. FfoiRad # & dH-— T =9 9 IW
meet the Banas on its ﬁght bank? R o= <3 fAad 22
(1) Berach (2) Golwa 1) =3 (2) Merar
(3) Sodara (4) Bajayin (3) W= @) qeRE
19. The Directorate of Environment and Climate 19. JoRId # TIERO] T Wol@R] UREcH
Change in Rajasthan was established in the Ao @ R Ay § P T
yff)r = @). 2016 @ 2013 @ 2016
3) 2018 @ 2019 3 2018 @ 2019
20. Rampura-Agucha lead and zinc mines in 20. ISTRIA # R U4 ST B AT
Rajasthan are located in the district of - P, e i fRea s @ -
(1) Bhilwara (2) Udaipur 1) Arerarst (2) SR
(3) Pratapgarh (4) Jhunjhunu ) uATe @ =1
21. The Morija — Neemala iron ore deposits in 21,  XISTRITH H AR e dlE P HISK
Rajasthan are located in the districtof - . et & ferd 21
(1) Ajmer (2) Jaipur 1) 3R 2) AR
(3) Dausa 4) Alwar (3) < @) 3IaR
22. Ramsagar Wildlife Sanctuary of Rajasthanis 22. XISIRIM &I IHARR JIGG JHIR...........
located in the district of - forer # fRer 2|
1) Kota L Pre
(2) Dholpur () deagR
(3) Sri Ganganagar (3) SR
4) Churu @ 5
23.  Surra disease is related to - 23. Wi (feRen) A Hela § —
(1) Buffalo (2) Pigs ' G 99 () P@RI
(3 Goat (4) Camel B3 T @ @
24. The Parwan Major Irrigation Project of 24. YIGIRIM &I W+ g8< Ri=rg aRaemr.........
: Rajasthan is located in the district of - forer # Rerd 7
(1) Dholpur (2) Jhalawar 1) g (2) SAES
(3) Chittorgarh (4) Kota 3 fRrisTe @) e
00-D Page 6 of 32



25.  Which among the following is not a main  25. fy=faRay § ¥ TR HT WG
- cause of desertification? BRI Tel 87
(1) Recurrence of drought (@ _\T@ k2 TG
(2) Overgrazing (2) rfearer
(3) Air pollution @) g W
(4) Population pressure @) ST $7 g9

26. In which major irrigation project, the 26. SRUN & fu e HaE aRaeEr §
sprinkler irrigation has been made fos®Ia / wart Riarg @1 smawas / afaRs
mandatory in Rajasthan? B fear Ty 272

(1) Mahi Canal 1) T T

(2) Narmada Canal (2) THer =N

(3) Indira Gandhi Canal @) sftewT Y A%
(4) Chambal Canal @ TFEA TR

27.  Shifting cultivation done on hill slopes by the 27, & STy R GBI Sl W & A arel
Bhil Tribe is called - RIFFIRT PN Fgorel & —

(1) Dajiya (2) Chimata 1) srm @) foEmE
() Dippa (4) Dahiya (3 femr @) =f

28. The Bhatner Fort is located in the district 28. &=~ Rbel forer 7 Rerg 24

of -

(1) Hanumangarh (1) s

(2) Jaipur : )

O @ s

(4)  Sri Ganganagar @ TR )

29. The district in Rajasthan where lowest 29. ISR P Rrer wgl 2001-2011 &1 3rafyy §
percentage decadal change in rural THY ST _EAGH 9fEa g9y
population during 2001-2011 has been gRadq 3ifea fkar Tar g aE e —
registered, is -

(1)  Sri Ganganagar (1) AR
(2) Jhunjhunu 2 37
. (3) Kota (3) i
(4) Baran @ i
30. The district in Rajasthan where highest 30. SIS/ BT fora WTET 2001-2011 & 3rafey F
ercentage decadal change in urban female STEET § ifeaq TR
gopulatifn during 200%-2011 .has been At ) A e
registered, is - URee sifba fabar e, 98 ¥ —
(1) Alwar (2) Dausa @) e (2) <N
(3) Rajsamand 4) Kota (3) ST @ e
31.  The Engel curve for inferior goods is — 31. N (MPpw) wxgeil & g Wi a5 2
(1) negatively sloped ?(1) UMD ST qTAT
(2) positively sloped (2) =D STl aTel
(3) vertical (3) <aEq
(4) horizontal @ afs
00-©
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- 32.

33.

35.

36.

@

Which form of monopoly regulation is most
advimtageous for the consumer? -

(1) Price control

(2) Lump-sum tax

(3) Per-unit tax

(4) All of the above

The product transformation curve is derived
from -
4y
)
3
@
If the marginal propensity to consume is 0.8
and the tax rate is 0.25, then what would be
the value of multiplier?
@ s 2) 25
3 15 @ 35
National Income is equal to -
(1) NNP at current prices — subsidy +
indirect taxes
NNP at factor cost — subsidy +
indirect taxes
NNP at current prices — indirect
taxes + subsidy
NNP at current prices — indirect
taxes — subsidy

Which of the following is a false statement

The consumption curve

The utility—possibility curve
The social welfare function
The production contract curve

@

3

regarding the psychological law of Professor

Keynes?
(1) Real consumption is a static function
of real income.
(2) As real income rises, real
consumption also rises.

(3) As real income rises, the percentage
of income devoted to consumption
falls.

As real consumption rises, real

@

income also rises.

32.

33.

35.

36.

UHIRIGR RIS BT ST Wy SuHiar
@ forg e araug 27 ‘
(1) or@ s

(2) T 97 N

@) Ui g&1g W

@) S i .

SR HUFARYT dp BT e~ fhay far
ST 27

1) SUET g%

(2) STERE—ueT 9%

(3) SIS Hea™T Ber

(4) SR wfdsT 9%

e WA STHIT YIRY 0.82 U9 @R A IR
0.252, T TUIH &I Tod TT SII1?

@M s

3 15

I 3 RER 2 —
1) T FHA R Y T ST —
IS + AU B

N ARG R g IS SArg—
IS + 3T BN

ATl DI R Y TS e —
Y T + M

T, DIl R Yg TSI Sre —
YT PR — I

f=foeg # 9 9= 3 Tt fm
P THEE ¥ G DU & —

2) 25
@ 35

)

&)
@

(1) TRAF STHRT IS A ST ReR
B B

grEfdd A $ 9g1 W arfdd
STRT H A7 9fy B R

(3) v adfad IR ggdh 7, O STHRT
R T S areT 3 BT g $u
Bl T 2|

g SR H gfy BN W
arfad 3 # A gfy B}

2

@

00-©
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37.  Which one of the following is not a cause of = 37.
market failures?
(1) Externality
(2) Price mechanism
(3) Market control
(4) Imperfect informations in the market
38.  Public goods are both - - : 38.
(1) non-excludable and non-rivalroos
(2) excludable and rivalroos

(3) excludable and non-rivalroos
(4) rivalroos and non-excludable

39. In which of the following case, the market 39.

failure does not occur?

(1) Rivalry in consumption with‘
excludability

(2) Non-rivalry in consumption with
excludability

(3) Rivalry in consumption with non-
excludability

(4) Both (1) and (3)
40. With reference to balance of payments of 40,

India, which of the
 constitute/constitutes the current account?
(A) Merchandise Trade Balance
(B)
©
D)

(1) OnlyA
(3) AandC

following

Foreign Assets
Balance of Invisibles

Foreign Investment

@ BandC
4 AandD
41.  According- to Economic Survey 2020-21, 41.
India’s share in world exports in the year
2018 was -
(1) 1.0 percent (2) 1.5 percent

(3 1.7 percent (4 2.0 percent

= 3 9 e TR RAvear a1 SR

TE 8P ;

(1) =R 1955

(2) ST YU

@) IR FF=

@ SR F et e

HaeIe ey THT B § —

(D R—IREpa IR R-ufew:R

(2) dfEspa 3R wferege

() 9P AR -

@ it siv R-afRepa

= & 4 S Rl araR srawemar

T8l 2?7

(1) yafsiar @ a1 Sy 3 gRgfear

(2) Smafsiar & 9RF SgerT § K-
gfgfgar

3 R-—ouaifar & wr=r Sww §
gfdgfgar

@ (1 3R 3) S

ARG B PIAE Ao & aad § fe §

| B Aol WY BT Pl Fvar /oy 8

(A) WWW
B) faesh uRewRmi

1) oI A 2 Bq§C

® AwEC 4 AwWD
IS wdeoT 2020-21 B FER, T 2018
4 fiem & faid 4 9Ra @1 R
S .

D 1o09fEm
() 179fkmE

2 1.5yfavE
4@ 2.0ufosg

00-©
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42.  Which of the following country- was the 42.

largest export market for India in the year
2019-2020? ‘

(1) China
(2) USA
@) UAE
4 UK
43.  The closer the Lorenz curve for income is to 43,
the line of equality represents -
(1) the larger the nation’s total income
(2) the smaller the nation’s total income

- (3) the greater the degree of inequality
of income

(4) the smaller the degree of inequality
of income

44.  Which of the following committee estimated ~ 44.
poverty line as monthly per capita
expenditure?

(1) Alagh Committee

(2) Rangarajan Committee
(3) Lakdawala Committee
(4) Tendulkar Committee

45. In which indicator of Human Development 45.
Report, 2020, India is even lagging behind
from Bangladesh?
(1) Life expectancy at Birth (in years)

(2) Expected years of schooling
(in years)

(3) Mean years of schooling (in years)

(4) Gross National Income (GNI) per
capita (in PPP)

46.  Which of the following is not a member of  46.
Monetary Policy Committee (2021-22)?

(1) Dr. Shashanka Bhide

(2) Dr. Ashima Goyal

(3) Prof. Jayanth R.Varma

(4) Prof. Amitabh Kundu

a9y 2019-2020 ¥ 9Rd @ oy e § 9§
DT <9 Al faia goR a1

@ =@

(2) HgF I SR

(3) NI IRY IR

@ fae=

AT B T & Y 919 D v e
5 URIa Hear & —

1) g P FHA AT B B

(2) " T B KA AT B <A
(3) 3T D JIAAAGAT B SATST HHT
(4) 3T B ITHEAETT P HH TEHT

= 9 9 g wftfa 3 oy afig afe
GUd B AR W AT Yar a1 e
far?

(1) 37 afafa

(2) TR afefy

3) @ |flfy

@) TgerHr aff |
=1 4 9 79 9 RUIE, 2020 & frg

T F ARG IEARY W A GY 22

(1) S B wHg Shad yrEn (ast )

2) e Ren @ yRe af (asf ¥)

() el Renm & WA 9y (aut )

@ ufa :wﬁﬁ GG B ot o S
Chgaamg) (@dd. §)

frafaiaa § & Afes Ny affy

(2021-22) ST T & & —

(1) < e fig

(2) i e T

(3 Y. WIT AR, 99

@ . AT g,

00-D Page 10 of 32



47. 'Which of the following fact is wrong about ~ 47. R4 ¥ i SreraRaT B B wEH ¥
Agriculture Infrastructure Fund in India? B e T 87
(1) This fund was launched on TR P9 B 09082020 F it
09.08.2020. i R
(2) This scheme is operational from the 2) =8 o 1 st as 2020-21 Al
year 2020-21 to 2029-30. 2029-30 &
(3) Under this scheme Rupees 1 Lakh @) 39 Ao B FEIA o1 AR foriEm
Crore will be provided by banks and Feml gRT 1 O FRis ¥ud USH
financial institutions. o SIRIT |
(4) Under this scheme Rupees 1 Lakh 4 =d AT B A Tb IR
Crore will be provided to the farmers TR g;q—crﬁ 1 R el gaH 5
without interest. SR |
48. Which agency provides loan assistance for  48. FE) Tor erehfaeT HaE @ forg DA
Skill Acquisition and Knowledge Awareness e diR I STeddT (HHe) BIAHA
for Livelihood Promotion (SANKALP) 3 foro o GEIdAl UaH ) 2
programme?
(1) Asian Development Bank 1) R e 98
(2) World Bank @) foza d&
(3) International Monetory Fund (3) FORTERT g5l Y
(4) UNICEF @) JrEs
49. The Pradhan Mantri Rojgar Protsahan 49. UETHAI AR PIRSIGR] RISEI
Yojana (PMRPY) was launched on - (A TARATE) AR B TE —
(1) August, 2016 (1) 3, 2016
(2) November, 2020 () TR, 2020
(3) August, 2019 (3) I, 2019
(4) December, 2019 @) fEwR, 2019
50. Tn which of the following states Garib 350. #Rd ¥ = § @ e oA § 20207 125
Kalyan Rojgar Abhiyan (GKRA) was i 3 o Y ST ASR AT TS
Jaunched in 2020 for a period of 125 days in P TS A
India?
(1) Bihar, Jharkhand, Madhya Pradesh, 1) fER, @Rgs, ™= T, anfee,
Odisha, Rajasthan and U.P. TR 3R SR U :
(2) Andhra Pradesh, Assam, Bihar, (2) 3 U, I, fRER, SIREvs, 7
Jharkhand, Madhya Pradesh and yayr o anfSem
el ' 3) fER, SR W7, U e, ¥, T
(3) Bihar, U.P., West Bengal , Kerala, goer iR aNfsEm
Madhya Pradesh and Odisha @ fER, W= Ty SR R S,
(4) Bihar, Madhya Pradesh, . U.P,, R G T
Odisha, Rajasthan and West Bengal ' ' '
00-© Page 11 of 32




S1.  -The simple and weight?_:d mean of the first n S1. 9o p UIpT HEAR BT AR 7§ TR

natural numbers, the weights  being W, el AR =T &7 WG $7 A7 =i
corresponding nu1hbers are respectively - W:' SR —
W s M 2w
?) ol (@D @ntn) (2) DL @+l) @ns1)
2 6 T
O O T
(4) None of the above @ SR F J ﬁg R
S2.  For the two equations 8x - 10y + 66 = Oand  52. 7 wfigwe} gy - 10y + 66 = 0 Terr
40x + 18y = 214, which of the following 40x + 18y =214 B forg Fer & § @)
statement is true? BUYT YT 2P
) Regression co-efficient of y on x is D xRy & yiiem i & 0.8
0.8 o
g Q2 Y W x. DT Tl 1o € 0.5
(2) Regression co-efficient of x on y is
0.5 O x Ty B ey wewEE e @
3) Correlation co-efﬁciént " between 0.6
Xandyis06. . ‘ @ fav g & wheRy o gdigee

4 The Iven two equation 10t be . o e
@ g eq cann - T8 B e

tWO regressmn equatlons

53. I X,,X, and X, are uncorrelated variables 53, afY wRTaY "y M T SRR V2, V2 T v2 o

with equal mean M and variances VZ, V2 and AN =R X,, X, 71 X 3M9¥ # srawafe &
VZ respectlvely then the correlation ar Z, = _a.lg;n Z, =% $ e W‘Tﬂl
: co—efﬁéieﬂtrbe_tweén Z, = x—and Zz = :—BIS NS BT 49 257 —
given by -
1) V2 @ vi
Jz vz J5+v2) 02 7
2) L& 2) Vi
Jozrvaz v +v3) vz 4v3)
Q). vz 3 v
0 +v3) vz +v3) JE +v3) vz +v2)
(4) None of these @ 3 PIE &
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54. A person aged x years will die within a year  54. wxaﬁ$mﬁaaﬁwaﬁi$wmﬁ
with probability P. Let Aj, A; .........,Aa be n @ WIR@T PR AT A, Ay An; 1
persons. If age of all persons is x years, then afd &1 3w afeaal & ey x af @,
what is the probability that A; will die within A I g tlgﬁ I U I B I
a year and only A; will die first - B @1 TR erfy —

@ 1-a-py @ 1-@-py

1 -, 2) 1 —1=pym
@ i -a-py @ ~[1 -@a=P)"
3 1-p° 3 1-p°
@ la-pp @ @a-py

SS.  The joint probability density function of two  55. f3feem agRes =R X Tom Y @t g
dimensional random variable X and Y is WIRISAT 89 Boe & —
givenby: | f(x,y)_4x(1-y),0<x<1;O<y<1
fx,y)=4x(1-y);0<x<1; 0<y<1 @ RT g Y & R X o1 sfRefe o9w
The conditional density function of X for the T —
given'Y is -

. ol 1 -
@ g(5)=2y D )=z
= 2 N _ai-
2 ( ) X — g(y) x—1
3 A o(X)=:
@ 8(;)=2 8(5) =2«
@ ( ) | g(y) y—1

56.  The joint probability density function of two  56. fafaen ?I@%aE WX Y P Ggad
dimensional random variables X and Y is 1 Bod ©
given by — _(2; 0<x<y<l1

2; 0<x<y<l f("’Y)‘{o S
f(x,y) = { ’ ; '
0; otherwise @, E (XY) T 99 & —
then, E (XY) is -
@ 1 @ 1 ® 1 @ 12
3 it 3 4
@ 1 @ 1 @ 1 @ 1!
5 2 5 2
57. I X is a Poisson variate with parameter = 57. I X, 0=11 17:]1'\'=ﬁ TR &, o SHBT qrg
0 = 1, then mean deviation about mean is — @ frd 7 fages e —
1) 1 1
1 - a -
2 2 2 2
3 e
) L
@ S ® %
(4) None of these @ s P T
00-&
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58.

If Xi and X; are two independent random
variables having the same geometric
distribution, then P(X; = X») is given by —

58.

N ifdfod deT & afy X @ X, @
W|IHF W 8, A PX, = Xp) & 99
T —

1) = 2) 4 P
o @) M = ® L
@ L @ L 1 1
= = ® L @ 1
39. The LQ. of children is assumed to be 59. w=df @ fg—afr &1 miiear se gam=
normally distributed with mean 82 and g STe&T W 82 ud weRor 196 ¥ IR Z
variance 196. If Z is standard normal variate A9 YITHRG N il eI
with P (Z < - 1.96) = 0.025 then, what is the P(Z<-196)=0025% o 99 5= &7
percentage of children whose LQ. is in the aRrerT 1 BN R g@féaﬁx L+ 1.960
interval p+1.966? & Ty 27 '
D 2k LRt 1 96% @ 9%
@) 95% @ 97.5% 3 95% @ 97.5%
60. Chi-square probability curve for degrees of 60. @G Hife 1 T 2 % foau PRt
freedom 1 and 2 is - SR 3 EFTT —
(1) Monotonically increasing @ '
(2) Monotonically decreasing &) o : i
(3 Normal curve (3) TEHT 95
(4) Constant curve @ feRr am
61. Cumulate generating function of non — 61. 3FET B — a7l seq T T T 15 B
central chi-square distribution for t < % is - |Wt< % P fog & —
- ‘ n = L .
@D K@t = ~3 log (1-26) @ K@) =~ log (1-2¢)
2) K(tA) =~Zlog(1— 20 + At(1-2t) () K(t2) =—Zlog(1—2t) + At(1-2t)
(3) K(td) =—3Zlog(1 - 2t) + 2ht (1 - 26) (3) K@) =~Jlog(l ~2t) +2At (1 - 20)"
@) K@) =~2log(1~ 20+ At(1- 201 @ KN =-7log(1-20 + At(1-29
62. Discriminant analysis is a technique of 62. fdggaar fAwewor . . S T TR
modeling a relationship between - UfereuTT 3 ThlD 8 |
(1) A continuous dependent variable 1) vs Haq JT TN dar w|agS
and independent discrete variable Wfesd T®
(2) Categorical criterion variable and (2) 2fieg FFeTE W Td W e
independent continuous variable R
(3) A nominal dependent variable and a (B) TEEE B W T T R
binary variable =
4 A r%omlnal variable and multinomial @ T ud qgue =W
variable
00-© Page 14 of 32



63.

65.

LetX;i=12,......... ,n) be a random sample
from N (1, 6% population, then sufficient
statistics for p and o> when both are
unknown, are respectively —

W &y e @ % @
X, . )
25 28
n “ —
X5 82 a3 > X?
i=1 ) i=1
If X1, Xo,eoeean. Xy are 1.i.d. variates from

a density function f (x, 0), then the Cramer —
Rao bound on the variance of an estimator Tj,
of T (8)is given by -

D Vo(ry >
: nE [ﬁlog f(x,B)]

@ Vo2 T

a2
nE 767 log f(x.B)]

3 —[Z @]
2

E[;? f(x.B)]
-[F©r

nE [% log f(x.B)]

VO (Tn) =

@ Vo (To) 2

If x 21 is the critical region for testing

Ho: 0 =2 against the alternative H;: 6 =1 on

the basis of single observation from a

population f(x, 8) = 8¢ ; 0 < x < o, then
type I* error is —

@ 2 @ 2

3 & @

Equality of several normal population means
can be tested by -

(1) Bartlett’s test

2) t—test

(3) F—test

@ x2—test

63.

64.

65.

AT X (1= 1,2, 0) U Agfes ufaast

N, 0®) a9 ¥ foram 77 81 afe paen o

HA: BT —

@ i& ZX- ) X, §?
3 n 4 n
3 3%, & @ X, ¥ X
i=1 i=1
Ife X1, Xoperronnan, Xo Uh T9F Ud Wa=

w9 ¥ Ffed (Lid) T £ (x, 8) T ol
el T Y E A T(0)D AP T, D
mzﬁmzﬁq‘\r—wrﬂﬁwqﬁaﬁ%—_

@ v, (T,) > a[rte}lz i
nE [ﬁ log £(x,6)]

(2) Ve (T,) > az[-grajz
nE[ﬁ-f lag f(x,B)]
DRy
L‘.'BZ f(x, 9)]
@ Vo (Tp) 2 *#ﬂ—
nﬁ[mlogf(x.ﬂ)]
YU URSET Ho: 0 = 2 &7 Yofas
WREATT Hi: 0 =13 aier e o

f(x, 0) =0e®; 0 < x < o0, § fIT TU TP
fesl R R ], & g Il wifve aF
x2 18 @ WF ISR B JR F AW
2 —

a 1 @ X

3) e? ) %

3D T afe ARt @ wEEar B
TOETT ERT B W & —

1) sdde — ey

2 t- 9

3 F-udgu

@ ¥ —gdrm

00-®
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67.

68.

69.

70.

71.

In Mann-Whitney-Wilcoxon U-test,
variance of U is -
8 mn{m+n+1)
12

(2) Zmn +1
m+n
(3) 2mn(2mn—m-n)
(m+n)Z(m+n-1)
(4) mn(m+n-2)
12
In simple random sampling without

replacement from a population of N units, a
sample of size ‘n’ is drawn. The factor %
is called -

the

(1)  Variance of sample mean
(2) Bias of estimator

(3) Sampling fraction

(4) Finite population correction

Regression estimate is more precise than
ratio estimate (Given p= s_jzysix)’ if -

(1) (pSy~RSx)*>0

) (pSy-RSx)*<0

3) pSy=RS,

(4) None of the above

The design in which no local control is used,
1s -

(1) Randomised Block Design

(2) Completely Randomised Design

(3) Latin Square Design

(4 Balanced Incomplete Block Design

In 2°-factorial experiment with four

replications, following arrangement is made:

Rep.1 Rep. II Rep. I Rep. IV
Block 1 2 3 4 5 6 7 8

abc ab abc ac abc ab abc ab
a ac ab be bc ac ac be
b be c a a b b a
c 1 @ b Q) e (1) c

The treatment combinations confounded in
replication II and  replication IH are
respectively —

(1) ABC,AB
3) BC,AC

(2) AB,BC
(4 AB,ABC

67.

68.

69.

70.

71.

A-Re—fIepias U gdemr 3, U &
O § —

(1) mn(m+n+1)
12
)

2241
&)
@

m+n
Zmn(Zmn—m—n)
(m+n)?(m+n-1)
mn(m+n-2)
12

vfceeno T wfed, el Aghed wRmag §
e B N zoRal § 9, n 5oyl &
gfisel 1 W %m | "SH
N2 Feomr & —

(1) ufeeel A’y BT gERoT

(2) 3TPdad B FMW

3) yfdaa= =

@) RFa gafe goes
T e SUd e o e
R B (AT @ p = S‘;—y:x) e —

(1 (PSy—RSx)?*>0

(2)  (pSy-RSx)?<0

3 pSy=RSy

4 ST H Y P S

ST SE BNl & —

(1) 3IgRes Tvs b

(2) T AgRes sfmea

() fes o s

(4 EfEE el @vs sif¥eegHr

IR GRIGRET a1 2°- JgSuerE Wi
T e P g} —

U1 IR Y9N m U9RT. v
s 1 2 3 4 5 6 7 8
abc ab abc ‘ac abc ab abc ab

a ac ab bc bc ac ac be
b bc c a a b b a
(1) (D) b I ¢ (1) c

H@Mgﬂv@ﬁmﬁw =1 SuERI #1
HEHROT b TR | —

(1) ABC,AB
(3) BC, AC

(2) AB,BC
4 AB,ABC

00-©
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72.

73.

74.

75.

76.

77.

Which of the following method is used to
measure seasonal variations comparatively
less utilize the given data?

(1) Simple average method
(2) Ratio to trend method

+(3) Ratio to moving average method

(4) Link relative method
Variate difference method is generally used
to estimate the variance of the ................in a
time series.

(1) Trend component

(2) Seasonal variations

(3) Cyclic fluctuations

(4) TIrregular fluctuations
Which of the following satlsﬁes factor
Reversal Test?

(1) Laspeyre’s Index

(2) Paasche’s Index

(3) Walsh Index

(4) None of these
Mortality rate calculated for children aged
below one month is cailed -

(1) Infant mortality rate

(2) Neo-natal mortality rate

(3) Maternal mortality rate

(4)  Age-specific mortality rate

Which of the following statement is true for

CS.0.?

(1) It started working under N.S.S.0. in
1951. -

(2) Since 1973 this organisation is
working  under Ministry  of
Agriculture.

(3) Both (1) and (2) are true _

(4) Neither (1) nor (2) is correct
In 1949, the Chairman of National Income
Committee was -

(1) D.R. Gadgil

(2) V.KR.V.Rao

(3) CR.Rao

(4) P.C. Mahalanobis

72.

73.

74.

75.

76.

77.

A fmrert & o & fre § Qg |1y
H P! BT JITTHD WU W B YD S
g? .

1) < 9rg Ay

() N J=EET

@ Iframa aRads

= 4§ o9 a1 queie aa Sohrdr

WO BT G HRAT 27

1) ARR T GEhib

Q) IR I GEDHib

3 T B DD

@ T ¥ P T
mgﬁma@zﬁaﬁﬁﬁﬂ?ﬂaﬁ

Fed T —

(1) Rg—wor =

(2) 9 TR R

@) #YT W R

@) smg-falre 7 =

CS.0.% forg 79 % @ &\9 &1 woF Wy

2°?

(1) N.S.S.O. 9! FRF % 33 g S
1951 4 3% foa |

(2) 1973 9 I8 TIGA PN AT B
3T S & V&l 2 |

@) T v g

@ 1T QU4 FE A T T8 F

1949 3, I 37 AR & angey o —

(1) SR Tefre
(2 9 . IR GG
3) 9. IR g

4 4 A weEky

00-®
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78.

79.

81.

82.

The Harmonic mean of the following data

X: 2 4 8 16

f: 2 3 3. 2

@D 400 2 444

3) 4.50 4 475

In a uni-model distribution mean is smatler
than mode, what can be said about the
skewness of the distribution?

(1) Negatively skewed

@
3)
@

Let the correlation between X and Y is
positive, then the sign of both regression
coefficient is -

(1) Positive

@

(3) Both positive or negative

4 Opposite of each other
Correlation coefficient between X; and Xo,
X1 and X3 and X, and X3 is ‘", then the
partial correlation between X; and X, after

"Positively skewed
Symmetrical
Nothing can be said

Negative

eliminating the effect of X3 is —
@ r 2 1r
3 = @ =
141 r

The chance of Ram to stand first in the class

is ; and that of Shyam is % The probability

either of them will stand first in the class is-
@ L
15

@ =

15

@ 2

15
(4) None of the above

79.

80.

81.

82.

@

frfoRee el ¥ =eife 9mn S

DG —

X: 2 4 8 16

£ i 3e g )

1) 4.00 2 4.44

3) 450 @ 475

N2 P 9l §¢9 ¥ e ARy, q

Eﬁa?grwaﬁmwa%aﬁﬁa}mazﬁ

SIT ey 872

1) IS I

(2) =TS dvHY

3) wHHHar

@ 39 R § 58 N & b1 o GFpar
% 3

IR X YD §/| & Gewew Ulis

TP €, T ST TAISRIT [olie} &7 fore

T

1) s\ S

) FOTHSD

3) YTI® T4 FUHSD <l &)

@ g A

X199 X2, X194 X3 TN X, Ud X3 4/ &1
g 99y -’I"Tﬁ'_)l‘% ar XWX, & 93
i FE T OND, Talh Xz 74 B

Wa B I A e o mar € -
@ r 2) 1r
3 L 4
1+r r

w$mﬁmaﬁaﬁﬂm§%w
qua‘?manﬁaﬁ%%mmﬁa’l:ﬁﬁﬁ
&t & W yom M & wildear & -

@ 2

15
2 2
15
3 Z
15

IR § G DL A 8

00-®

Page 18 of 32



83. IfXisarandom variable whichcantakeonly 83. AR X T YaT IGREH =W & W Efﬁﬁ
non-negative values, then which of the FOR A9 & ol ©, a1 9 § | B9 6
following is true? _ g 87

(4) None of the above - @) SR § D Al T
84. Forlarge ‘n’ and ‘p’ in the neighbourhood of  84. ug Ry deq ¥ aft p &1 v %q} g &
-;— ,a Binominal distribution tends to - T nﬁgﬁ 3= 21, a1 A §e g § yRafia
=4
(1) Poisson distribution o WU%' )
1) dUIgE- dcH
(2) Normal distribution ) .
(2) YHEMENY dcH
| (3) Negative binominal distribution (3) =S BT e
(4) Hyper geometric distribution (4) TEWR KRR ded

85. Eight rats are chosen and observations are 85. 376 Jg T Y FAT I% ol U= Yoy forg
taken on weight. A special diet is given in the Y | TR H S OF e qa e
laboratory for three months and again their Ao fear T qon gue 9ig § ST g
weight is taken on the basis of these ao foram SIrar 81 39 U0 & SR W
observations, effectiveness of special diet on faftre Ao @ 99 W yEdiad @
weight is to be tested for this purpose, the TRETOT HRAT B, <O 59D g EAESH wetor
appropriate test is - ® —

(1) F-test (1) F-uRier

(2) Normal test (2) TATHIT TRIET
(3) Pairt- test (3) IfHa t— w0
@) x*-test @ &3 9o T

86. X have F distribution with (n1, nz) degreesof 86. X & §c F 2, e wd=ar difc HHI:

freedom. The distribution of - lis- TRCR Al ll:a;r e 21T —
(M ¢ distribution ( ) df. (1) (g (ﬂ) AT e
@ 2 distribution 2 df. @) e ot T 2ife § 2
. n

; (@) F de fome w@dar P -

@) Fdistribution with (-, =) df. =2
Nnq Ny ng ) ns .
) F distribution (n2, m) d.f. @ F dc7 foaal wadoa @fe &
(n2, m1)
00-©
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87.

If S is the Covariancé matrix as an estimator  §7.
of 2 from a Np (0, ), then A = (n- 1S

T Np(0,2) % ¥ &7 aderd S 2 o fb
A=@-1)S ¥ 9=R¥E 2, @ SuST §

follows - BT —
(1) Chi-square distribution 1) & T §eq
(2) Mahalanobis D? distribution @) TEERE e
(3) Wishart distribution @) e qe
- (9 Hotelling T? distribution @) TRRIT T2 dex-
88.  Hotelling T? statistic in usual notation is - $8. Wy gl @& wrr SRR T2 yRedw
2 -
D T2=pn@-p'riE- - 1o
o SR O 12 0@y TR -
T=@ WS @=p) @ T2 =>X-py s1X - )
2 _ (Y _ oV c-1 Y _ ) - | B
g; el S T ®) T2 =n®- W’ $1X~p)
TEE-wrE-w @ 17=@-w T ®-p)
89. TIftisa consistent estimator of parameter 0, 89. e 6T YT 0 BT WG Aibadd 2,
then another consistent estimator will be — QT G ABAd BRI —
@ itn 2) n ty §))] %tn 2 n th
@ -1 @ t-n @ ot @ t,-n
: - :
90.  Which one is not true? =~ . 90. ST § DI A1 Up G TE &2
(1)  The probability that statlstu;,1 will faﬁ 1) F shese o T IR B
in a critical region under nu N el -
e N Rifr & wifve &5 % Pam &
.hypothesis is a. ‘
(2) The probability of committing II R O 2 |
kind of error is «. - ¥ Eﬁqﬂgﬁﬁﬂﬁﬂﬁﬁa%l
(3) The probéblllty .Of committing I kind 3) T T ﬁﬁf ?ﬁﬁ & TP oL 2|
of error is . :
. 4) <BEU I D WMABGT DY
(4) Probability of committing type I @) ‘a’l%’ .
. error is the level of significance. ®R P& T
91. 45 91. (L. o
Iff(x,9)={9’ 0SS aﬁq’f(x,e)={e’ iy
0 otherwise ' \0 3o
For testing Hypothesis Hg : 6 = 1 against H b tIWFIT H:0=1% fiog
Hi: 6 =2 based on a single observation x Hi: 0 =2 %1 e T& Yets x Ue fhar 1y
the size of type I error, if we choose critical g, ar wem UHR & I T R, Tl
region 0.5 < x, is — PiE &5 05<x 2, ar —
@ 025 2 060 @ 025 2 0.60
(3 0380 @ 050 (3 0.80 @ 050
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92.

93.

Which test is used to test the randomness of
a given sample?

Run test
Median test
Sign test

@

2

3)

@
Wilcoxon’s signed-rank test considered the
difference (x;-Mo) by way of -

(1) Sigas only

(2) Magnitude only

(3) Both signs & magnitude

(4) None of the above

Kolmogorov-Smirnov-test

93.

facras fos—arh wenr om § @ @
(xi-Mo)rz%aimaﬁ ............. e BRI

(1) F9a fsl

(2) daeT MBRI

() < sl R AR

@) SR F QD A TS

94.  Sampling frame in sampling theory is - 94. YR HaEr § it B & —
(1) Method of sampling - 1) yftRE & fafy
(2) List of units of sample () IR B sHRA g
(3) List of units of population @ T N gHEAl T
(4) List of questions @) w= B Gl
95. The allocation providing smallest variance 95. T& RaRa ufe=ae 3 &4 etraes # stipors
of estimator in stratified sampling is - BT YERT AT BR1I?
(1) Equal allocation 1) YHH 3AGeq
(2) Proportional allocation @) s sde
(3) Neyman’s optimum allocation 3) W-W o]
(4) Arbitrary allocation @) w1 e ‘
96. A systematic sampling does not give good 96. VS HUdg Ufawaw d o1 gRumy =S
results, if - faer, i —
(1)  Variation in units is periodic 1) sHEad gRadqT s @
(2) Units at regular intervals are (2) sHRAT H FEug ok R A
correlated HEgHRg 2 '
el @) )T @)
(4) Neither (A) nor (B) @ Tar (A) T & ®B)
97.  Which one of the following Latin squares 97. fofaa ¥ PN & A aif &1 fageryoy
cannot be analysed? &l fbar o gaar?
@ 3x3 @ 2x2 @ 33 @ 20
3 5x5 @ 6x6 3) 5%5 @ 6x6
00-©
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98.  The underlying principles of ANOVA are- 98,
(1) Parent distribution is normal
(2) Exrors are homoscedastic
(3) Effects are additive in nature
(4) All of the above

99.  In cyclic variation, the objective is to - 99.

(1) Eliminate trend

(2) Eliminate Seasonal effact

(3) Eliminate trend and seasonal effect
(4) None of the above

100. Under usual assumption in time series data 100.
ye=Po+ B1 yei+e is -
(1) Linear regression model
(2) Auto regression model
(3) Non-linear regression model

(4) Multiple regression model
101.  Price index for a year using simple aggregate 101.
method, Pon, for various commodities is -

(1) l‘:— x 100

@) é‘; X 100

3) z(i—) X 100

(4) None of the above

102.  Gross reproduction rate is defined as - 102.

(1) total feritilry rate X female live births
rotal live births

(2) total live births X female population

(3) total fertiilty rate X total live births
female live births
(4) total fertililty rate
female live births

ANOVA & g Rigra & —

D) = 999 e @

(2) Ffear afaferera &

() SR &y Ay §

(4) SR o

=hi =T # Sew @ fp —

(1) YT BT T BT

(2) W WG BT ST HRAT

@) STARY vd W P S P e
HRAT

(@) SWRET # 9§ BIS A &

FA BT TRE 39 ORI & d8d Sl B

fIT yi=Bo + B1 ye1+ e 39 TBR ..o 21

(1) & TivEe dted

(2) WIE T Hige

() RE™ yAHT died

4) 9 ydrTHA Afed

AR A1y fIfer &7 ST 9% U 9§ >

fore fafT awgell &1 Weid Py &7 WH......

M oy 100

@ 2100

€)) Z(i—“)x 100
@) SR F 9 BIS A T8

bl Yol X IRART 3 7€ & —

(1) ot 9o &R x Slaq afker o=
ot Siad <+

(2) w7t Shaq o= x Hfgen siEEET

(3) wl goa T x wRgel Sied e
Sfiaa Al 5

4) v R
Sigd Afee I
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103.  For a population, if — 103. fof aafe & forg, afe —
()  NRR = GRR, all the new born girls () NRR = GRR, ¥t 7 o=
survive till the end of their fefbdl Siaaq & § w9 d q
reproductive age. T areft g qu q 2 .
() NRR = 1, then for a given fertility () aE NRR=1% @ @& Ry mw
and female mortality, a group of g &t Gl“? R B fere, 7-13‘
_ _ S dsfEal B owmE e ™
new born girls will exactly replace qN BH TP WG @M aik
the outgoing females in the Sal & Ak 9 99 Y 9l
reproduction age group. SY Y IIEY oia |
Choose your answer from the following: frferiaa % & v woR ¥ -
(1) Only (i) is correct 1) % §)w
(2) Only (i) is correct, (2 R ) ad &
(3) Both (i) & (ii) are correct (3 <Hi G ue (i) |er &
(4) None of them are correct @) SWTH B 4 w9 1 2
104.  Vital statistics can be obtained - 104. Siie9 6% e fby oy § —
(1) Census method (1) gegof o fafy
(2) Sample Survey method (2) ufaes® gdeor Ay
(3 System of registration (3) USHHRT gorreh
(4)  All of the above @) SwT T
105.  Agriculture statistics is collected by - 105. Y T+ offee U wY ¥ GUE xS
(1) Department of Economics & %‘(1) I 'R W e q iftera)
Statistics at centre level. ’ frmr '
(2) Directorate of Economics & 2 ™ R R gffe vd Gikad)
Statistics at state level. frdemery
(3) Both (1) & (2) @) ()d (2) A
(4) None of the above ~ @ SR Bis 1 78
106. Laspeyer’s and Paasche’s price index both 106, iR 3 U B o0 Gadie I I
satisfy time and factor reversal test, 3R T SHRET THET W W Iy &,
when- — :
1) plapre (1) plapke
(2) pla_pk 2) pls_pke
() pla . pPa 3) pla<ph
(4) No relation exits @) =8 T T
107. Marshall Edgeworth index lies between - 107.  arefei—uoiae] TR & wmm am
(1) Laspeyre’s and Paasche’s indices 1) =R T U % aoie
(2) Laspeyre’s and Fisher’s indices 2) RR T R B TDID
(3) Drobish-Bowley and Walsh indices @) XM — SIS T AT B GEHiE
(4)  None of the above @) ST § FE T
00-©



108.  There are 6 red balls and some blue balls in  108. TF Forer # 6 2t 743 § ik 7B el T
an urn. Thf probability of drawing 2 red balls 21 399 9 Q1 oel e e &) PR G
fron.lltls;."lhenumberofblueballsmthe iglmﬁﬁﬁ?{%—
urn is -

a 4 1) 4
2 6 2) 6
3 8 3 8
(4) None of these @) 7 9§ 1S
109. For a distribution the mean is 10 and 109. TP g T WEa 10 ¥ ok YEROT 16 2
variance is 16, y1 is +1 and B is 4, then the Ti,+1%8 3R B2, 47| T8 gy w=s ﬁ@
second raw moment, skewness and kurtosis aTELU‘[ quR] 3N DHepadl z —
are -
(1) 116, -ive and platykurtic (1) 116, -ive 3R FUCHHAT
(2) 116, +ive and leptokurtic (2) 116, +ive 3R GIHHA
(3) 84, +ive and platykurtic (3) 84, +ive IR TUCHRHLY
(4) 84, +ive and leptokurtic (4) 84, +ive AR GUHHL
110. The mean and standard deviation (S.D.) of 110. T BRG] & ArT 3R ARY ﬁaa:r (S.D.)
the two factories are provided below — A few 1w § —
Factory No. of Mean S.D. of FREFET  HHAIREGl gy qIT BT
employees Salary  salary G icres S SD.
C 30 4800 %10 C 30 4800 10%
D 20 35000 %12 D 20 50002 127 .
Which factory has mere consistent structure frg dREM § SR @ J97 @) SEET
of employees salary? § GIraar &7
1 C 1 C
2 D 2 D
(3) Same (3) wHH
(4) Information is :ncomplete @) TTHRY R 2
111.  If the product of the roots of the equation 111. IR THHRT x2 — Skx + 26k — 1 = 0 &
x% — 5kx + 24"k — 1 = 0 is 31, then sum Tl BT IOE 31 8, A Al BT AN & —
of roots is -
@ 2 2 -4 @ 2 2 -4
3 10 4 o0 3 10 4 0
112. If © 112, TR
1 X x+1 _ 1 X x+1
A(x) = 2x x(x—1) x(x+1) AX) = 2x xx—1) x(x+1)
3x(x—1) xx-1D(x-2) x(x*-1) 3x(x—1) xx—-1x-2) x(x%-1)
then, A(100) = , @ A(100) =
@® o @ o
2 -10? 2 -10?
3) 100! (3) 100!
@) ~{100(100 + 1)} @) ~{100(100 + 1)}
00-©
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113. 31 2 113. 3 1 2
The rank of matrix A= |6 2 4|i1s— AMFE A=[6 2 4|FI @M -
31 2 R
a o @2 1 @ o 2 1
3 2 @ 3 @ 2 4 3
114. If any matrix A has eigen values 1 and 4 with 114. IS & g A & SIFemEE A4 1
corresponding eigen vectors [ ﬂ and [ﬂ W4 T I SEEE wie me
n 1 2
respectively, then the matrix A is - [__ 1] =t [1] g, g A § —
oy [2 2] @ 3 2] 1) [2 2 2) [3 2
1 3 1 2 173 1 2
3) [9 —8] @) [—4 -8] A3) [9 —8 @) [—4 —8]
DI SEEN 5 —4 5 9
115. If f(x) = |log|x|| , then - 118. afe f(x) = |loglx||, &
(1) f(x) is continuous and differentiable 1) f(x), S99 wid 5 T4 x & forw dad
for all x in its domain. Ud 3dhT 2 |
(2) f(x) 1s neither continuous nor ) fx) x=t1®R ar Fad & g A
differentiable at x = £ 1. B AP T
3 (fi(x) i§ diflf)erentialzle for -all X in its @) fx), 35 wid § @ x P R
omain but not confinuous at fg & g x=21W Gad
X= i 1. :‘gl_ % |
(4) f(x) is continuous for all x in its o -
domain but not differentiable at @ £, 589 w17 F i x 5 forg W
= 3 W x=* 1 W 3@HAT T8l 2|
116. The radius of curvature at (x, y) on the curve  116. % y=ccosh> & {875 (x, y) TR geberr f3roar
y=ccosh§,ié— e 3
o 2 @) <= @ 2 Q) ¥
[ X C X
G @ @ ¥ @ _
c x2+¢) c (x%2+¢)
117. The area of a loop of the curve r=asin 30 117. TFH r=asin 30  UH T BT B XIS
is equal to - =
1 == 2 == 1) ma? Q) ma
6 3 6 T
(3) m? 4) m (3) mal @) ma
12 24 1z EYS
118. The area of the surface genmerated by 118. I&F y = 2vx, 1<x<2 &1 x- I B uRa:
: revolving tpe curve y = 2vx, 1<x<2 about R 2R S 7 3 8 s _
the x- axis is -
Gl 1) 28" (3,
W 2 (3v3 +2v2) D) = (3v3+2V2)
2) 8n(3v3-2v2) 2) 8n(3v3-2V2)
8w 8
@) = (3v3-2v2) @ = (3v3-2v2)
i = 4 I =
@ I(3v3-2v2) @ 3 (3/3-22)
00-©
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LI Solution of (%)2 - ax3 =0,is- 119. (%y)z —ax}=0FTEd & -
1) 25(y+c)* =4ax® (1) 25(y+c)? = 4ax®
(2 A(y+c)®=25ax (2 A(y+c)?=25ax°
B) 25(y+c)® = 4ax’ 3  25(y+c)? = 4ax’
@ 4A(y+c)*=25ax3 @) 4A(y+c)’= 25ax3
120. dGeneral solution for the differential equation 120. FaPH '\“ITfﬁW u 2 d%y + y= 0 T
—2—+y 0, is- WW%—
(l) (c1- ex)eZ+ (c3+ cax)e™ (@) (c1- c2x)e®™ + (c3+ cax)e
(2 (c1+cx)e? + (c3- cax)e™ (2) (c1+cx)e™ + (c3- cax)e
A (+ c_ze")x - (cs+caeMx 3 (c1+c2e"x - (c3+ cae)x
@ (c1+cx)e* + (c3+ cax)e™ @) (c1+cax)e* + (3 + cax)e™
121. - Singular solution for partial differential 121. HifD add TN z = px + qy + pq
equation z—px+qy+pq,is—~ &1 fafes g1 8 —
0z .
(Herep ,q——) (wng—z,qsg—;)
@) x+y+z=0 (1)'x+y+z=0
@) xyz=0 " 2 xyz=0
3 z+xy=0 3 z+xy=0
@ z-cxy=0 @ z-cxy=0
122. The particu:l::’r. irdlzegral of diffferential 122, yagpa TR x2 x— +2y = xlogx
equation x? a2 ¥t 2y =xlogx is - ?ﬁrﬁﬁlﬁt'ﬂmﬁ%—
M) xlogx Q2) lg (M xlogx (2) logx
X
® @ ® ! @
(xlogx) log x (xlogx) logx
123. Cauchy’s theorem is applicable for the 123. BT f(z) = zz+52+6zf} o oish yig g
function f(z) == +fz+6 when the path of B o T 2 R T W C il
integration C is a circle with centre at origin R @ Ha ﬁﬁ RA T AT
and the radius among the following is - B & — _
1 1 2) 2 @™ 1 () 2
3 3 4 4 3 3 @ 4
124 viue of Iy x:l‘i ;;;? dx , is - I 5 x(sl(:;)’;) dx & 71 7 —
@ o 2 1 @ o @2 1
3 g 4 o 3) g 4 o
125. I w = f(2) is a regular function of z, where 125. I w=1(z), z &1 & ARG Ber g,
f'a(zz) * (a)z; | then‘ | the  value | of e f'(z) £ 0; A (a i ai;E)IOg'f'(z)l B
(ﬁ + a—yz)loglf'(z)l is- a9 2 —
@® -1 @2 o @ -1 @2 o
3 1 @ 2 3 1 @ 2
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126. If the Laurent S expansmn of the function 126.

=552 =
|z| > 2, then the coefficient of z—z is- .
@ 1 @2 2
3 8 4 -1
127. Among the following relations, which one is  127.

is vahd in the region

not a recurrence relation?
D xJara(X) + X Jn1(x) = 20 Ju(x)
2 Jha(x)-Joa1(x) =21y (x)
3 xI'®) =-nJE)+x Jn1(x)
@ xJ'E) =10Jx)—xJhi(x)
128. IfRe(c-a-b)>0, Re(c)>Re(b)>0and 128.

c is neither zero nor a negative integer,
then

| b)
F(a,b;c;1)= r (8 1sknownas-

(c-a) |(c-b)
(1) Gauss Theorem
(2) Vandermonde Theorem

(3 Kummer Theorem
(4) Saalschutz Theorem

129. Legendre polynomial Py(x) is equal to - 129.

@ F[-n n+1;1; ?

@ SFifn, n+1; -1; 22

(3) T [ [ e 14x

@ Fi|-nn-1;1; 2
130. |x {log( )} 1s equal to - 1?’0'

) % (1 + cosh t)

(2) 1-cosht
t

) %(1 + cosh t)

(4) 2(1—cosht)

t

?II%Wf(Z):ﬁ—(Z z)m?vﬁﬂm
8 ll>2 3 ¥R A L e e
3

@ 1 @ 2

3 8 @ -1
ﬁwﬁﬁmﬁﬁﬁwgﬂ?@w
T 2° :

@ x J"nq-i(X)>+’XAIn-I(X) =2n Ju(x)

() Toi(x) - Taa(®) =2 Iy’ (x)

@ X100 =030 + X Jai(®)

@  xJo(X) =nJu(x) - X Jnui(x)
If& Re (c-a-b)>0, Re (c) >Re (b) >0 3R
cqa‘wﬁa%sﬁ?mzﬁmwﬁ%
ar .

._ |c [{c-a-b) :

F(a,b;c;1)= —(’%% T ST S 2—

1) i T

2 TsHE Wy

@) T W

@) weages TN
flolTs TGUS Po(x) SRR & —
(@) 2Fi -—n', n+1;1; ﬂ]

@) 2F -n, n+1; -1; part

3) zFﬁnn o L=

@ R .— -1;1; i
Lt {lpg (1—p—2)} WK T —

.(1) %(1 *+ cosh t)
(2) 1- cosht

&) %(1 + cosh t)

(4) 2(1-cosht)
t
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131.  Consider the following statements — 131, 991 ®oFi & famam & —
LI The last 1 or 2 line(s) of a paragraph I g & sifom 1 arerar 2 farer(ar)
left at the top of a page is/are called Sl % & W SR 38 W) € fier
window. HEAT & /T
Il:  In MS Word document footnote can be I tiwa o€ SRl §  gede
inserted using “Control + Alt + F” PR + dfee + TH" ‘éﬁé—&T: Foh
S Gmsopilieg, _ & TN ¥ WIS FRamET o wadr )
The true statement (s) is/are R
- (1) OnlyI A) a1
(2) Onlynl (2 Daa I
(3) BothIand I 3) 1 e O eet
(4)  Neither I nor IT @ TRIARTAI
132.  In MS Word, what is gutter margin? 132. THUH. g8 # TR 7T @ 27
| (1) Margin that is added to the left (1) =T S fiie = a9 9 7Rl
margin when printing H SISl o &
(2} Margin that is added to the right () =i <t fiie s w87 39 @il
margin when printing 4 Sier \rar @
(3) Margin that is added to the binding @) W S fic e=xa 99u PLS) P
side of page when printing AEST o T/E F Sier orar &
(4) Margin that is added to the outside of (@) Tic o= G99 U9 & 97 o) |\l
page when printing SirST ST &
133.  What is meant by ‘Data Processing’? 133. 's1eT U 9§ @1 s &7
' (1) Organizing data (1) ST & Fafkerd &=
(2) Making data useful ) SIeT 3 Syarft 99T
(3) Collection of data 3) TICT BT WIT BT
(4) All of the above @) SR g
134.  Consider the following definitions — 134. =7 g W fmR &% —
a. Create and print a batch of a. wﬁﬂﬂﬁ AT BT SIeRAT §9MT QH fie
personalized letters
. b.  Challenge response mechanism b. g:ﬁ?ﬁ_qﬁw i
c.  Series of commands or instructions c. ee AT e @ TS Sfger
a, b and ¢ are related to the following a, bl ¢ FA: 7 Gl & —
respectively -
(1) Hyperlink, Macro, Captcha (1) TERfP, Ap), D
(2) Macro, Mail merge, Wizard ) ¥, 4 w1, A
(3) Captcha, Mail merge, Hyphenation (3) @ ¥ T, PR RNE
(4) Mail merge, Captcha, Macro @) I T, D, Sy
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135. To hold row and column titles ih place, so 135. f

that they do not scroll when you scroll a
worksheet, click the ............cooevevevoeeo .

I AR Biad NS B TR W@y @
forg, @ifs <19 Mg & gaslic & wia
H T A T B T .. R i Y

(1) Freeze panes command on the View n 7 ﬁ:g R B9 U9 $HiS
menu
(2) Unfreeze panes command on the Q) G IY R AT T AW BY
View menu v
(3) Hold panes command on the V.it‘:w @ Y W PSP oS B
menu -
(4) Split command on the View menu @ = ﬁzﬂ s ,
136. To insert watermark in a document of MS 136. THTH, 3iifhg IS 2016 & Siagie # qrex
Office Word 2016, which of the following A M 3 oY, o Fr ¥ ¥ o § o9
tab you will choose? T gA1q HE?
(1) Home (2) Insert @O BT 2 sue
(3) PageLayout (4) View 3) U9 daTSe ' @ 7
137. What is the output of MS-365 excel function 137. THTH-365 TR BasH
=MID(“Rajasthan Public Service =MID(“Rajasthan Public Service
Commission”, 11, 14)? Commission”, 11, 14) HT ITSTYT T EITT?
(1) LicService.  (2) RajasthanP (1) Lic Service (2) Rajasthan P
(3) Public Service (4) Publ (3) Public Service (4) Publ
138. In MS-365 excel, which of the following 138. THTH.-365 TR # daw ¥ § =i & &g
function is used to remove extra spaces from U5 W BISdy aﬁrﬁaﬁ W g @ forg
a text except single space between words? = & 9 BN W wem ugad Biar 27
(1) FIXED (2) PROPER (1) FIXED (2) PROPER
(3) TEXT 4 TRIM 3) TEXT (49 TRIM
139. In context of IPSecurity(IPSec) choose true  139. [PSecurity(IPSec) ® g ¥ 9 DT BT
. statement - g-q N —
(1) IPSec supports IPv4 but does not (1) IPSec IPv4 P OIS Hear & W
support IPv6 ] . IPv6 &7 781
(2) The ESP protocol provides source (2) ESPUCI®ia i — yoiieeer geq
authentication but not privacy G| % g Thq:ﬁ-qa-[ E R
(3) The AH protocol provides privacy (3) AH WG MUARGT Yo Har 2
: buf not data integrity R ST favawHar =
(4)  IPSec is designed to provide security 4) IPSecTd® oR W W TS B
at network layer - forg feomsa & 78 @
00-9
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., 140.

In context of cyber security, which of the 140. HEER e & g N, = A Q4

following is a passive attack? % U ared 27
(1) Masquerade (1) IRNE "
(2) Traffic Analysis Q). ﬁﬁ;‘cﬁ TR
3) Replay Q) I
(4) Denial of Service @) feTad sife wfdq
141. - The cyber-crime that involves authenticating 141. WRN—IRE 94 T& fvaaiy g @
one computer system to another by forging | el @ Teaw Th HFYeN Req 31
packets from a trusted source address is T W TG X i BB B9 §
known as - ST ST R
(1) Spooling (2) Spoofing (1) et (2) gt
(3) Vishing (4) Smishing 3) R @) a3
142. Which of the following filters all data 142. % % ¥ B grewie a1 el TER eadh
packets coming through the internet or a @ A ¥ AEE-YEH BF e SeT Yae
network? B fheex Heam 87
(1) Podcast (2) Firewall (1) vUesrRe (2) BRREA
(3) Cookies (4) Malware 3) aﬁa @) FARR
143. Consider Column — 1 and Column — 2 143, wWRI-1 TAT W2 R AR o —
- Column - 1 Column - 2 wWR™-1- w2
1. School data a. (S)lrrllgle Sign . Rucmse o R W
2. Electronic b. Amazon 2 Sty
Fund Transfer 2. TN l. b.
3. e-commerce c¢. U-DISE : ?ﬁ%w ¢ T
4. e-governance d. Paytm : = ; =
5 Mobile e IMPS. 4. TN 4 WK
Wallet 5. HEEd e e gTAdLTE.
Most suitable match of Column-1 and ?ﬂq_l T W2 P HEE YA e
Column-2 is - —
(1) 1-c,2-e,3-b,4-a,5-b (1) 1-c,2-e,3-b,4-a,5b
2) 1-e,2-c,3-d,4-b, 5-a 2) 1-e,2-,3-d,4-b,5-a
3) 1-b,2-3,3-c, 4, 5d (3) 1-b,2-a,3-c,4-e,5-d
4 1-a, 2-d, 3-¢, 4-b, 5-¢ 4) 1-a, 2-d, 3-e, 4-b, 5-c
144. What is the length of Unique Transaction 144. STRELSHTH. Jumell ¥ olFes & TgaM B
Reference (UTR) number that is used to & forg Swanr fag o= W falfre oM
identify a transaction in RTGS system? e (FETIAR) T B ofarg @ 8?
(1) 24 characters (2) 8 characters (1) 24 ot 2) 83
(3) 14 characters (4) 22 characters 3 14 v @) 22 gui
.145. In banking system of India what does NEFT 145. 9Rd & sfb7T Req § NEFT &7 a1 aef
stands for? 2?
(1) New Electronic Fund Transfer (1) = SATRNTD B TRIBY
(2) National Electronic Fund Transfer (2) WIS SAdEITD B TG
(z) ge:v Eietron; Fltlrla.nf:e Trarlljfe:n 3 = Taac e B oiawR
@) Ta ion ectronic nance @ ST o . 3
ransfer K
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146.  Which of the following is NOT a mode of 146. f=foRad # & B o Rfidrea 'ﬂ"TﬁF-I C)
digital payments? T TWIHT =8l 27
(1) RTGS (2) IMPS (1) RTGS (2) IMPS
(3) NEFT 4) MICR (3) NEFT (4) MICR
147. Consider Column ~ 1 and Column — 2 in 147. RN # S—TE B ey ¥ Ww—1 o
context of e-governance in Rajasthan — W2 W TR & —
Column - 1 Column - 2 -1 A2
1. ] izati : -Mi .
o s o S L s s i
2. Registration and b. Raj Crest HIICADRT
Stamp 2. URA TE HgEib b, Raj Crest
Department o AT
1) ggﬁf,?ces ¥ ?;,‘5:{{:3‘;2‘3 ?ﬁw' 3. UPIPdS—W@ HA c.  htips:/chiranjeevi.
Platform rajasthan.gov.in
4. CM Health d.  Apna Khata 4. ¥ WA 9" 99 d. Apna Khata
Insurance T
Scheme
Code:- Re- -
(1) 1-a,2-d, 3-b, 4c (1) 1-a,24,3b, 4
(2) 1-d,2-b,3-a,4c (2) 1-d.2-b, 3-a3,4-c
(3) 1-b,2-d, 3, 4-a (3 1-b.2-d,3-c,4-a
4 1-b,2-a,3-c,4-d 4 1-b.2-a,3-,4d
148. Which of the following is related to 148. fr=1 § ¥ PN T VORI o TGET
Rajasthan State Pollution Control Board? =T 98 ¥ wafg &7
(1) Bhamashah 1) «mEEnE
(2) Case Darpan (2) *9 U
(3) Resurgent Rajasthan 3) Rusic T
(4) Drishti @ 3fe ‘
149.  Ifacitizen wishes to lodge his/her grievances 149. AR $1E THIRS TTRIT WU TR P
to a particular department of the Rajasthan fdl oI famr & aroeft Rierra oot s
State Government, which of the following aedl T a S99 el ¥ 9 fhg
e-governance platform should he/she use? 3—IaTE @B BT SUART BT Tifag?
(1) Raj Masters 1) S Aeed
(2) Shala Darpan (2) e Fgy
(3) Rajasthan Sampark (3) TR WU
(4)  Vikas Darpan CYRNCEI R
150. Rajasthan Government e-governance portal 150. RISTRIT WRHR BT I—Ta-4 Ued TTIRT
‘Rajdharaa’ is related to which of the =1 4 9 fEay ddftg 2
following?
(1) SIPF 1) THEIEHTE.
(2) RGHS (2) IRSITETE.
3) GIS (3) SiarEey.
(4) Janaadhar @) TTIER
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